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TUIR

TU BESAR

TU VIVIR

TU JUGAR

TU TORCER
NOSOTROS IR
USTED VIVIR
USTED COMER
USTED TORCER
USTEDES TOSER
USTEDES COMER
USTEDES JUGAR
NOSOTROS PONER
NOSOTROS TOSER
USTEDES ABRAZAR
USTEDES PROHIBIR
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USTED IR

TU COMER

TU DOLER

TU BEBER

TU ASISTIR
USTED TOSER
USTED PONER
USTED BEBER
USTEDES PONER
USTEDES VIVIR
USTEDES BESAR
USTED VISITAR
USTEDES TORCER
USTED PROHIBIR
USTEDES VISITAR
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Imperfect Tense (-ar/-er/-ir +
irrequlars)

B AGUJ
CONPA
OSOAF
M NRTO
i NUOQB
A CRQK
SQZCHB
TS 1 SA
WV S M I
A OV BG
MSALD
HNEAU
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OSVSB
PHOXG
YQDOLER

TQTOSER

TU PONER

USTEDES IR

USTED DOLER
USTED BESAR
USTED JUGAR

TU ABRAZAR
USTEDES BEBER
USTED ASISTIR
USTED ABRAZAR
NOSOTROS DOLER
NOSOTROS VIVIR
USTEDES ASISTIR
NOSOTROS ASISTIR



Solution

TSABAGUJKYV

QHTABAGUJ

VGJFONZCONPA

\%

DWWMFV ZQGGHRDBOSOATF

WE S OMA

QXRTMXCZMNRTO

i
AQFALATORSC

B CBOTN

NUQSB

AV A

ABAZARBAAACRAQOQK

OLVNABAZARBAZNTSOQZCHB

M E GWS

S A

i T s 1
SAADABRAZABASSBWV.SM

S NEWVEBESABASA

CAOVEBG

PBONABASEHBNI

P i
N B H

NOPMSPMSALTD

A LSA
NA KOEATAHNEAU
A ANW

B T

EHSTBA

TAL FL NV O

B

E TSCYOONA

M CMRB V

Y OHORVRS

M

TRSSKMEA

S L NDAU

SOT

P A
4

B
E

S E

AWONA I

B DMMSNABAGUJOSMNX

A N

LOOBEBIKZXRNNTCAOSVISSB

i SOTORCIASPHOXG

A OCS A



